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A, (i) FAEFHATIFTC deg dtE

Note : There are three sections A, B and C in the paper.

(ii) AFH TH 397 G&IT1 & G 10 Y71 & I T | I YT T 3% H & TG
Gt 10 577 FGAT R F T & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & S 8 Fo1 7 @ (58] 6 F591 & I JfAT | T F97 3 3% H71 8 0q
5THT 5 SAT/50 Vieg] 7 IR Ao |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) QT @ 36 5371 4 G 1581 4 I571 & I AT | T J97 8 37% T & 0T
3951 15 S157/150 ¥e5] 5 3K T |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) FI% QI F T I91 B FHAIR T Gre 5T Hitord |

Solve all the questions of a section consecutively together.
(vi) I qTSIaT 7 3 g7 @ 1R 7 3 sgar S e 8 1

Only English version is valid in case of difference in both the languages.

YA -
SECTION - A
. () U 8 o o1 ATgshIsiei T T © fore & S Al TOH R THATR |

(@ 4 ®) 8

(© 12 @ 16

A 8 bit microprocessor can process _____ bits of data at a time.

(@) 4 (b 8

(0 12 @ 16

% (10f4) P.T.O.
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@ / (b)

© {J d /

Which of the following symbol is used for the single line comment ?
(@ / (b)

© i @ /

8051 # 16 fore & TR B & ?

@ 0 ) 1

(© 2 (d 3

How many 16 bit timer register exist in 8051 ?

(@ 0 b 1

© 2 d 3

= 5 @ i 1 iR e W g 7

(a) PCON (b) ACCorA

(c) SP (@) STt @eft

Which of the following is special function register ?

(a) PCON (b) ACCorA

(€)...:SP (d) All of the above
ot o S 3 P @ T RIS R 2

MoV A, @ RO

() W ERmAE (b) FERREE Tl drg
©  (a) 3 (b) (d) SRR H & IS T

Which of the following addressing mode exist in given instruction :
MoV A, @ RO

(a) Register addressing mode (b) Indirect addressing mode
(c) Both(a) & (b) (d) None of the above

= % @ @ a1 Wi a8 S awt R ¢

(a) SBUF (b) PCON

(c) SCON (d) TCON

Which of the following is serial port data buffer ?

(a) SBUF (b) PCON

() SCON (d) TCON

. 3773w o). dftred am R

(a) A TR T HIIX (b) mwﬁzw
(c) FITeIHH SR e HWEER  (d)  HICT SELHH U hrg
CISC is an abbreviation for

(a) Complete Instruction Set Computer
(b) Complex Instruction Set Computer
(c) Complex Instruction Set Compiler
(d) Couple Instruction Set Computer
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(viii) T.3TR. TH. 1 A TY RS ?
(a) 3~1d 3TR.TE. v o, asfe (b) TETfeTd AR 37E.wE. dt. 7sfi
(c) T A.IME.TE., WX (d)  IYUa | 8 h18 T
What is the standard form of ARM ?
(a) Advanced RISC Machine (b) Automatic RISC Machine

(¢) Automatic RISC Motor (d) None of the above
(ix) 8051 % fepa Hiiret FHHIM AIS B & 7

(a 1 by 2

(¢ 3 @d 4

How many serial communication modes are there in 8051 ?

(@ 1 b) 2

(© 3 d 4
(x) 8051 3ATheFR Ft 3H T HLAT 7 |

(@ 2 (b) 3

(c) 4 @ 5

8051 architecture supports total _interrupts.

(@ 2 (b) 3

(c) 4 d s

e -t
SECTION -B

2. TTEShIehgIeR i THHTYA T |

Define microcontroller.

3. SFRe1? ? feredi ufar SFR o = foifam |
What is SFR ? Name any 5 SFR.

4. W i iy HIT |
Define Stack.

5. aﬁéﬁa&ﬁﬁw@mwmmm%&wﬁaﬁmaﬁ%ﬁﬂl

Write down any five logical instructions and operations performed by them.

2215

(1x10)

€))

3)

&)

€)

6. 8051 % fo, P2 Y P2.4 W TR el & & ford ¢ T forw, p2 i 3w forem

TR el = |

Write a 8051 C program to toggle only bit P 2.4 of P2 continuously without affecting

rest of the bits of P2.

&)

P.T.O.
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7.

10.

11.

12.

13.

14.

15.

8051 Tehe TSI o S ! BSel HL Thal & ? 37 19 faaRaw |

How many types of interrupt can 8051 handle ? Name them. A3
F< TUftrehar IR (IP) 1 Hite 99153 |
Draw the format of Interrupt Priority register (IP). &)
S IR T R 7
What is data pointer register ? 3)
e —
SECTION-C
8086 HTSSHITIEER T JMMhTFR IS GUT SEh! H&Y T THTEY |
Draw architecture of 8086 microprocessor & briefly explain it. 8)

8051 HTghIsRgIeR ST e & wgfiv Higw = sereww afvd gugsd |

Explain the addressing modes of 8051 microcontroller based system with example.  (8)

8051 HTSERIShgIeT 3TN fireem 3wy <. u . & Scrpfim = amamsd |

Explain the interfacing of DAC with 8051 microcontroller based system. 8)

8051  ITE 3R HIR ATRIA o = 997 3R 8 ? TMOD SFR 1 Hiilz sH1sd wd
3O THITE |

What is the difference between timer and counter operation of 8051 ? Draw format of
TMOD SFR and explain it. ®

TR TH. TEER T fomivar fofed |
Explain features of ARM processor. 8)

HIZFhIhITTL TUT ATZShISIEER o s1e 37 ! FIeaR & Twemsd |

Explain the difference between Microcontroller and Microprocessor in detail. 3



